M U LTI B R ACKET S

Installation
manual

Installation manual

sded oo ose
Instalacni manual
Installationsmanual
Installationsanleitung
Paigaldusjuhend
Odnyieg eykaraataang

Manual de instalacion
Asennusohje

Installation Manuel

nTI™M ANPIN

Szerelési kézikonyv

Manuale di installazione

BV FHEAE

MR dEM

Montavimo instrukcija
UzstadiSanas rokasgramata
Installatie handleiding
Installasjonshandbok
Instrukcja instalacji

Manual de instalacéo

Manual de instalare

MHCTpyKUMst no ycTaHoBKe
InStalacny manual

Navodila za montazo

Installationsmanual

Montaj kilavuzu
REEMH EAN: 7350105215308 EAN: 7350105215292 EAN: 7350105215315

OOOOEOOOOOROOOOLOEOOOO®OEEO®O®®

www.multibrackets.com



IMPORTANT!

Your Plasma. LCD, TV, Projector, Projector Screen or other HiFi equipment represents a
considerable value.

If screws are included they may not be suitable for the material of your wall, ceiling or floor.
Replace the screws with suitable ones if needed.

In case you are unsure regarding any aspects of the mounting of this product please
Consult a professional.

Ao Gl i 8 el AW P e s eal J el Jaa AAS Y el Jles RN ST LCD LSl A0S 5
e M1y Bl jiaal sdled dudie [ S5 Y G 83 e il S |

e 230 130 dadie 5 ad el sl Jut
e i 5L G L a8 S G i e ] i

DULEZITE!

Vas plazmovy nebo LCD televizor, projektor, platno a dalsi elektrotechnické vybaveni je
vysoce hodnotné.

Pokud jsou soucasti baleni produktu Srouby, zkontrolujte, zda jsou vhodné pro upevnéni ke
sténé, stropu nebo podlaze v misté instalace.

V pfipadé, Ze nebudou pfibalené Srouby vyhovovat, vyménte je.

Pokud budete mit pfi montazi tohoto produktu potize, obratte se na zkuseného odbornika.

VIGTIGT!

Din plasmaskeerrn, LCD-skeerm, tv, projektor, projektorskaerrn eler andet HiFi-udstyr
repraesenterer en betydelig veerdi. Hvis der medfalger skruer, passer de muligvis ikke til
materialet i veeggen, loftet eller gulvet. Udskift skruerne med passende skruer, hvis det er
ngdvendigt.

Hvis du er i tvivl om noget i forbindelse med monteringen af produktet, skal du kontakte en
ekspert.

BELANGRIJK!

Uw Plasma,LCD TV, Projector, Projector scherm of andere HiFi-apparatuur vertegenwoor-
digt een aanzienlijke waarde.

Het kan zijn dat de bijgeleverde schroeven niet geschikt zijn voor uw toepassing. In dat
geval dient u ze te vervangen door schroeven die wel geschikt zijn. Twijfelt U, raadpleeg
dan een professional.

TAHTIS!

Teie teler, projektor, projektori ekraan v6i muu HiFi seade on suure vaartusega.

Kui kinnitusel on komplektis paigalduskruvid, siis ei pruugi need sobida Teie seina, lae voi
pdranda materjaliga. Vajadusel vahetage kruvid sobivate vastu.

Kui Te ei ole seadme paigaldamise detailides kindel, siis konsulteerige spetsialistiga.

ACHTUNG!

lhr Plasma-, LCD-, TV-Gerat, Ihr Projektor, lhre Leinwand oder sonstige HiFi-Ausriistung
stelle einen betrachtlichen Wert dar. Die méglicherweise im Lieferumfang enthaltenen
Schrauben sind unter Umsténden nicht fir das Material ihrer Wande, Decken oder Boden
geeignet. Ersetzen Sie sie bei Bedarf durch geeignete Schrauben.

Wenn Sle bezliglich der Montage des Produkts unsicher sind, wenden Sie sich an einen
Fachman

SHMANTIKO!

Ol TnAeopaaeig Plasma, LCD, a Kavovikég TNAEOPATEIG, o 000VeEG TTPOROAEWV 1) GAAEG
guokeuég HiFi éxouv pia agloanpeiwtn agia. Av repidapBavovtal Bideg lowg va pnv ivai
KaTAAANAEG yia TO UAIKO TOU ToiXou, Tou Taaviou 1) Tou TTMWHOTOG TaG. AVTIKATAOTAOTE TIG
Bideg pe kataGAANAEG av gival atrapaitnTo.

TNV TEPITITWAT TToU JeV €i0TE TiyoUPOI YIa KATTOIEG {NTAPATA OXETIKA HE TNV TTPOCAPTNON
QauToU TOU TTPOIGVTOG, TTAPAKAAOUPE TUHBOUAEUTEITE Evav €18IKO.

IMPORTANTE!

Los equipos de plasma o LCD, los televisores, proyectores y pantallas de proyeccion,

asr como otros equipos de alta fidelidad suponen una inversion considerable. Si incluyen
tornillos, puede que no sean adecuados para el material del que estén formados la pared.
el techo o el suelo. Sustituya estos tomillos por otros mas adecuados si es preciso.

Si no esta seguro sobre cualquier aspecto del montaje de este producto, consulte a un
profesional.

TARKEAA!

Plasma- tai nestekidenayttdjen, televisioiden. projektorien ja niiden valkokankaiden seka
muiden hifi4aitteiden arvo on huomattava. Laitteen mukana toimitettavat ruuvit eivat
valttamatta sovellu seinien, katon tai lattian materiaaliin. Korvaa ne tarvittaessa sopivilla
ruuveilla.

Mikali olet epavarma misté tahansa tdman tuotteen kiinnittamiseen liittyvasta seikasta, ota
yhteys asiantuntijaan.

IMPORTANT!

Vos écrans plasma. LCD. télévisions, projecteurs, écrans de projection ou autre matériel
Hi Fi ont une valeur considérable. Les vis fournies peuvent ne pas étre compatibles a la
nature de vos murs, plafonds et sols. Remplacez-les par des vis adaptées.

Si vous avez des doutes quant au montage de ce produit, veuillez consulter un professi-
onnel.

FONTOS!

Plazma, LCD TV-d, projektorod, vetitévasznad vagy egyéb miszaki berendezéseid
tekintélyes értéket képvisel. Ha a csavarokat tartalmazza, akkor sem biztos, hogy alkalmas
a berendezés, hogy falra, mennyezetre, vagy a padléhoz rogzitsd. Cseréld ki a csavarokat
a megfelelére, ha sziikséges. Abban az esetben, ha nem biztos a termék beépitésével
kapcsolatban, forduljon szakemberhez.

IMPORTANTE!

| vostri plasma, LCD, TV. proiettori, schermi di proiezione o altri apparecchi Hi-Fi rap-pre-
sentano un notevole investimento. Le viti in dotazione potrebbero rivelarsi non adatte per il
materiale della parete, del sof-fitto o del pavimento. Sostituitele quindi con viti piu idonee in
caso di necessita.

Nel caso riscontriate problemi nel montaggio di questo prodotto, consultate un tecnico
specializzato.

BE !

HEEDTTAI, LCDR., FLE, 7O I V&, JODPIVE—RIU—2F @
DNAT7AHBBELBZ) DEEZERLET .

ITUNEBEENTVRHEE, HOREHELORE, XAXKOMEICELTVWEWAELN
Ft A,

ZEBEIZSUTHEYEED TR EMYFTET,

T—ATE. ZESZOMYFHOVThLOREICEL TFRAERN 2 7 OCHEKLT
<EEEV,

VIKTIG!

Din plasma, LCD, TV, projektor, projektorskjerm eller annet HiFi-utstyr har betydelig verdi.
Hvis skruer falger med, er det ikke sikkert at de passer til materialet i veggen, taket eller
gulvet. Bytt skruene i skruer som er egnet om ngdvendig.

Hvis du er usikker nar det gjelder montering av dette produktet, ma du kontakte en profes-
jonell.

UWAGA!

Monitor plazmowy, LCD, telewizor, projektor, ekran projekcyjny lub inny sprzet HiFi stanowi
znaczng warto$¢. Jesli dotaczono do niego $ruby mocujace, moga one nie by¢ odpowied-
nie do materiatu, z ktérego wykonane sg dane $ciany, sufit lub podloga. W razie potrzeby
nalezy je zastapi¢ odpowiednimi $rubami.

W razie jakichkolwiek watpliwosci dotyczacych montowania tego urzadzenia nalezy za-
siegna¢ porady u specjalisty.

IMPORTANTE!

O seu Plasma. LCD, TV, projetor, tela de projeg¢do ou outro equipamento de HiFi representa
um valor consideravel.

Se os parafusos estao incluidos eles podem nao ser adequados para o material da sua
parede, teto ou chao.

Substitua os parafusos com os adequados, se necessario.

Em caso de duvida sobre quaisquer aspectos da montagem deste produto, consulte um
profissional.

SVARIGI !

Jasu Plasma. LCD, TV, projektors, projektora ekrans vai cita HiFi iekartas veido ievérojamu
veértibu.

leklautas skrves var bt nepiemérotas jasu sienu, griestu vai gridas materialiem.
Nomainiet skriives ar piemérotam skriivém, ja nepiecieSams.

Gadijuma, ja jus neesat parliecinats par jebkuriem $o produktu montazas un stiprinajumu
aspektiem, lidzu, konsultéjieties ar specialistu

SVARBU!

Jasy plazminis TV, LCD, LED televizorius, projektorius, projektoriaus ekranas ar kita HiFi
jiranga turi didele verte.

Jei varztai yra komplekte, jie gali netikti pas Jus panaudotoms sienuy, luby ar grindy medzi-
agoms.

Pakeiskite varZtus j tinkamus, jei reikia.

Jei nesate tikras dél bet kurio Sio produkto montavimo aspekto- praSome kreiptis  profesi-
onalus.

IMPORTANT!

Plasma ta. LCD, TV, proiector, ecran de proiectie sau alte echipamente HiFi reprezinta o
valoare considerabila.

n cazul in care suruburile sunt incluse ele nu pot fi potrivite pentru materialul peretelui dvs.,
tavan sau podea.

Remontati suruburile cu cele adecvate, daca este necesar.

Tn cazul in care nu sunteti sigur cu privire la orice aspecte ale montarii acestui produs va
rugam sa consultati un profesionist.

BHUMAHUWE!

Kakum 6b1 06opynosanviem HiFi Bbl H1 nonb3osanuck, 6yab To NnasmenHbIi, XK nnu
CTaHAapTHbI TENEBU30pP. NPOEKTOP UK MPOEKLUMOHHBIN 3KpaH, - BCe OHW NpeACTaBnsioT
3HAYMTENbHYIO LIEHHOCTb. He Bceraa Kpennenusi, npunaraemble B KOMMNEKTe, NoAXoasaT K
maTepwvany BallMX CTeH, noTonka unu nona. Mpu Heo6xoanMocTH 3ameHuUTe ux Ha Gonee
noaxopsiime.

Ecnu y Bac ecTb kakme-nmbo COMHEHNSt OTHOCUTESNIbHO TOro, Kak KpenuTb AaHHbIA NPOAYKT.
noxarnyicTa, NPOKOHCYNbTUPYIWTECH Y KBANUMPULIMPOBAHHOrO creuuanucTa.

VIKTIGT!

Din plasmaskarm, LCD-skarm, TV, projektor, projektorskarm eller annan HiFi-utrustning
representerar ett ansenligt varde. Om skruvar medfoljer utrustningen ar det inte sakert att
de passar for materialet i vaggen, taket eller golvet! Byt ut skruvarna mot lampliga skruvar
om sa kravs. Kontakta en expert om du ar osaker pa nagot i samband med monteringen av
produkten.

DOLEZITE!

Vas plazmovy alebo LCD televizor, projektor, platno a dalSie elektrotechnické vybavenie je
vysoko hodnotné.

Pokial st stidastou balenia produktu skrutky, skontrolujte, ¢i st vhodné pre upevnenie k
stene, stropu alebo podlahe v mieste instalacie.

V pripade, Ze nebudu pribalené skrutky vyhovovat', vymerite ich.

Pokial budete mat’ pri montazi produktu potiaZe, obratte sa na skiseného odbornika

POMEMBNO!

Vas Plasma. LCD, TV, projektor, projekcijsko platno ali drugo HiFi oprema predstavlja
pomembno vrednost.

Ce so vkljugeni vijaki ne smejo biti primerni za material svojega steno, strop ali tla.
Ponovno namestite vijake z ustreznimi tiste, ¢e je potrebno.

V primeru, da ste prepri¢ani o vseh vidikih vgradnjo tega izdelka se obrnite na strokovnjaka.

ONEMLI!

Plazma, LCD, TV, Projektér, Projektor Ekraniniz veya diger HiFi cihaziniz son derece
degerlidir. Birlikte verilen vidalar duvar, tavan veya déseme techizatiniza uygun olmayabilir.
Gerektiginde vidalari uygun olanlarla degistirin.

Bu Urliniin monte sekilleri ile ilgili sorunlariniz olmasi halinde bir uzmandan yardim alin.

EERR!

BHEEF. LCD, TV, BN BRUURBRIHCHFRZBEETENNE. NR
BRI CNARTES BN EE, XURRER. NRFZHFRTERNELN
o5,

MERNFFRRENEMNAEAERDEEATLAR.

www.multibrackets.com



Warning!

Always check the depth of the holes before starting an installation.

dadl

Sl Alae (b fas o 08 Gl Gae Ladla pandl,

ADVARSEL!

Kontroller altid hullernes dybde, for du gar i gang med en installation.
WARNUNG!

Vor Beginn des Einbaus immer die Tiefe der Bohrungen tberpriifen.
MPOEIAOMOIHZH!

EAéyxeTe TTAVTOTE TO BABOG TWV OTTWV TTPOTOU EEKIVATETE TNV EYKATAOTACT).

WARNING!

Always check the depth of the holes before starting an installation.
jAVISO!

Controle siempre la profundidad de los agujeros antes de iniciar una instalacion.
VAROITUS!

Selvita reikien syvyys ennen asentamisen aloittamista.

ATTENTION !

Vérifiez toujours la profondeur des trous avant de commencer l'installation.
ATTENZIONE!

Verificare sempre la profondita dei fori prima dell'installazione.

Varovani!

Pred zacatkem instalace vzdy zkontrolujte potfebnou hloubku vech otvord.
ADVARSEL!

Sjekk alltid hvor dype hullene er for du begynner & montere.

OSTRZEZENIE!

Przed przystapieniem do montazu nalezy koniecznie sprawdzi¢ gteboko$é

otwordw.

NPEAYNPEXOEHUE!

Mepep ycTaHoBKOI BCeraa npoBepsiiiTe rnyGuHy 0TBepCTUiA.

VARNING!

Kontrollera alltid halens djup innan en installation pabdrjas.

UYARI!

ﬂontaja baslamadan énce daima deliklerin derinligini kontrol edin.
4!

=5!
™

EIREEFRREAREILRNRE .

WARRANTY CARD MULTIBRACKETS.COM
MULTIBRACKETS ™ Limited Warranty For warranty claims made during the Warranty Period, MULTI outdoor use voids this Limited Warranty. The Limited Warranty for
Multibrackets warrants its products to be free of defects in BRACKETS will replace any defective product part free of charge. wall and ceiling mounts is void if the mount is moved from its initial
material and workmanship for the product’s Warranty Period. Should a part on your Multibrackets product fail, please create an installation. To the maximum extent permitted by applicable law,
The Warranty Period commences on the original purchase RMA case on www.multibrackets.com/support to make a warranty Multibrackets disclaims any other warranties, express or implied,
date of the product. claim. We will await your documentation and then discuss the including warranties of fitness for a particular purpose and war
problem with you and once we confirm the product is under war ranties of merchantability. Multibrackets will not be liable for any

All Multibrackets products are covered ranty, we will ship replacement parts to you. This Limited Warranty damages whatsoever arising out of the use or inability to use its
by a limited product warranty: does not cover the costs of removing and replacing defective parts products, even if Multibrackets has been advised of the possibility
«FIVE (5) years for metal video monitor mounts; all racks from your Multibrackets product. So, if your problem requires a of such qamages. To the maximum extent permitted by applicable

and non-electrical rack accessories repawvtecvhn_\cwan, you must pay any labor chargves_;‘ law, Mu\tlbrackets disclaims any responsibility for incidental or

This Limited Warranty extends only to the original purchaser consequential damages.
*TWO (2) years for gaslifts and sit-stand workstations of the product and is automatically void if your Multibrackets
) product is modified in any way, improperly installed, taxed beyond

*ONE (1) year for all motorized and/or automated products, its stated weight capacity or otherwise misused or abused. All Multibrackets ™ Stockholm Sweden 2016,

plastic speaker mounts, all speaker stands, all furniture; all Multibrackets products are intended for indoor use only and any www.multibrackets.com

wood (MDF) accessories

2 PERSONS
RECOMMENDED

FOR INSTALLING THIS PRODUCT.

The content of this manual is subject to change without further notice. The latest version of this
manual can be found online under the product name on the website: www.multibrackets.com

www.multibrackets.com



Dimensions

84.5mm [3.3"]
000000000000 MmOnuDana00mDnD
100~400mm [15.8"] $8.2mm [ ¢ 0.3"] °
1 11—
N B 5§ e A
sz 8 26
oo oo o | || gl €| €] e € €
' E'E ElE|l EE
un 8828 8% _
0 - N » < ©O — H
s
= EAN:7350105214776
S
QuI0000n0naIDMmImAnnDau0ooom © g
%
o,
1<
£
o
N
822mm [32.4"] 70mm [2.8"]
COMPONENT CHECKLIST
A B C D E F G H I

M6X15 M6X20 MB8X15 MB8X20 ¢6X¢p6.2X1.5 M6  @13Xp8.2X5 ¢16Xp8.2X1.5 M6X8

i © 8 e e I
X6

X4 X4 X11 X4

J K L M N O P

M6 M6X12 M8X65 @8X50 MB8X16 Open-wrench 4mm 5mm

@
X4 X2 X7 X4 X1

-

X2

=F

4 www.multibrackets.com



INSTALLATION INSTRUCTION

bk a

10mm

(3}

www.multibrackets.com



6 www.multibrackets.com



Philips TV o

Depth ;
adjustment B

www.multibrackets.com



(=3 EAN:7350105215308

EAN:7350105214783

wire cable

8 www.multibrackets.com



wire cable

I
I][Iﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ[ﬂﬂﬂ]ﬂlﬂﬂﬂﬂlﬂﬂﬂﬂ

\X? 0 % i

\§ /O J
4 N [ N
pL7:W EAN:7350105214820 M-8 EAN:7350105215315
ﬂHHHHHHHHHHHMHHHHHHHHHHHHH I
H
CcC DD 0
M8x16 COVER
v | &
X7 X4
EE FF
M8x16 /
) ] ||
x5 X1
\§ VRN J
www.multibrackets.com 9



o=

Optional installation

|

N

'

www.multibrackets.com

10



Vs

K.\ EAN:7350105214837

LL MM NN 00

M8x12 M86
= : 5mm 6mm

HH I

% 2.5"
KK

kMY EAN:7350105215292

~

Locked the
wheels first

www.multibrackets.com

11



J X J

www.multibrackets.com



